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1:4&45 - BERE 6.7 100.6
2EBE-NR GG NAY 16.9 813
it 23.6 181.9
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Gode | TR HNFF TEFH e ) [TABE | 2h1E | SRAR | 438H | 520k
1~2| 10:48:47| 11:54:58|4% % BERE BB 2.7 66.2 16.2
3~4| 12:11:10] 12:30:33|%E 5 - BERE R T (FERNE) 1.1 19.4 12.0
5 12:42:34| 12:57:01|4 % - BE5E BN 0.9 145 9.7
6 13:06:40| 13:15:17|#E% - BIRE Ex A B8R 0.3 8.6 49.2
7 14:04:28| 14:11:27|%8 % - BEcE 05 70 218
8 14:33:17| 16:49:00| BENEE - W R- 49V~ 1) 27.1 135.7
it 32.6 251.3 108.9 0 0 0 0 0
TBE—FRIEE
FB FEENEERE (km) BEEER (53)
1:4&45 - BERE 55 115.6
2B EE-NR4IY— N Y 27.1 135.7
it 32.6 251.3
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1~2| 09:16:42| 09:39:47|4%E%- BERE EEF 13 23.1 320
3 10:11:48| 10:36:59|1E - HERE ERIF 1.4 25.2 474
4 11:24:23| 11:46:22|% %5 - B¥5E FER 0.5 220 30.4
5 12:16:45| 12:27:33|1E%- BERE JE 0.6 10.8 18.0
6 12:45:33| 12:48:19|% % - BnE JEHLLEFRR 0.2 28 26.9
7 13:15:11| 13:18:34|1E - HERE AR HE 0.2 34 28.9
8 13:47:26| 13:56:27|%% 4 - BE5E 0.6 9.0 122
9 14:08:38| 14:3743|BEE-NR-99Y—- N 1Y |[OvR3EEE 8.2 29.1 249
10 | 15:02:35| 15:27:23|EEE-NR-5490—-n1h [HEEFREA 45 248 8.5
&t 176 150.1 2291 0 0 0 0 0
RBE—RAILE
FB B BIEERE (km) BEIEFRA (5)
1:4&45 - BERE 48 96.2
2EEE-NR )Y N AY 14.4 59.4
it 19.2 155.6
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e 8 - ® m) | GD) | D) [T ABE|261E | IRAR | 4XER | 5Z0M
1 11:17:37| 11:24:34|8%:8 (#h T EELLSY) 0.0 7.0 11.8 1,600
2 11:36:21| 12:15:31|BEIE-NR-49y—-n1) |#hEFED 13.7 39.2 8.2
3 12:23:41| 12:35:00|%E 25 HERE g 0.5 1.3 32.6 500 200 100
4 13:07:37| 13:27:23|#% - BIRE =l 1.3 19.8 222 400
5 13:49:33| 14:00:39|% % - BnE 0.9 1.1 2.7
6 14:03:19| 14:51:20| HENEE -N'R- 49— 1) |FRERER 13.8 48.0 64.7 900
7 15:56:00| 16:02:15|8%3& (Hh T 8% LA4}) JRFHKR O 0.0 6.2
at 30.1 1426 142.1 900 0 1,100 1,600 100
RBE—RAILE
FB B BIEEEE (km) BEIEFRA (5)
1:4&45 - BERE 2.7 422
2EBE N4 N 215 87.2
it 30.1 129.4
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1 [ 11:33:40] 11:42:25|8:8 (M F LS 0.0 87 243 140
2 12:06:45 12:19:15| B ENEE -N'R-49Y—-n'1) 28 125 138 500
3 12:33:03| 13:01:22|%E - HERE fEE 6.1 28.3 450 700
4 13:46:21| 13:48:07|#E% - BIRE 0.2 1.8 30
5 13:51:09| 14:04:24| BBYE - N R- 49— 1) 40 132 108
6 14:15:10| 14:31:58|8%3& (Hh T 8%) 0.0 16.8 0.3 250
7 14:32:18| 14:39:22|% % - BnE REN AL B YR 0.4 7.1 78.1
8 15:57:27| 16:03:13|#E% - BIRE 0.3 5.8 05 1,300 2,200
9 16:03:43| 16:17:06|#%:8 (#h T8%) 0.0 134 210
it 13.6 107.6 175.8 2,000 0 0 1,100 2,200
REE—FRIKE
FB FEENEERE (km) BEEER (53)
1:4E%5 - BERE 6.9 429
2HBIE-NR-BYY— V1Y 6.7 258
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Code | HiFBFZI | BIFEEF %I RBFEE Ealppii (k) | ) [TABE| 25iE |sHas | +%aE ]| 520k
1 10:40:53| 10:48:35|%E 2> HERE avE= 0.4 7.7 12.1 30 500
2 11:00:42| 11:07:59|#% - BIRE 0.2 73 5.7
3 11:13:41| 11:36:24| BBYE - W R- 49— 1) 5.3 22.7 0.6
4 11:37:03| 11:58:45|#E% - BIRE =EF 0.8 21.7 64.2 400
5 13:03:00] 13:09:15|% % - BxE ERIT-EMER 0.4 6.3 10.5
6 13:19:46| 13:23:28|# % - BIRE 0.3 3.7 3.7
7 13:27:13| 13:30:14| BBYE - R- 49— 1) 09 30 0.7
8 13:30:59| 13:56:53|%E % BIRE 1.2 25.9 11.8 2,000
9 14:08:43] 141759 BBE-N'R-49Y—-n1) |SEMEL 2.0 9.3 62.9 500
10 | 15:20:54| 16:09:23| BENE-N'R-49—-n'1) |{RE 7.7 485 30.7
11 | 16:40:06] 16:48:02| BBIE - N R 49— 1) 0.6 7.9 05
12 | 16:48:31| 17:07:29|#k % - BicE &K RiTET 0.7 19.0 16.4 4,000
13 | 17:23:53| 17:40:55|4 4% - BE5E 1.1 17.0 0.3
14 | 17:41:13[ 18:28:44|8%:8 (b F 8K LLISL) JRFAHKO 0.0 475 330
at 21.7 2475 220.4 400 4,000 530 830 2,000
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FB B BIEERE (km) BEEER (53)
1:4E%5 - BERE 5.3 108.5
2B EE-NR4)Y—N (Y 16.4 91.4
it 21.7 200.0
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1 10:45:53| 11:06:00|% % - B5E 1.0 20.1 0.6
2 11:06:38] 11:13:17|BBE-NR-49Y—- N 1) |Z+ZRI=E 24 6.6 80.1 1,100 820
3 12:33:24| 12:36:20|4% 4 - B¥5E 0.4 2.9 15
4 12:37:50] 12:51:39| HENEE - W R- 49V~ 1) 1.6 138 0.0
5 12:51:39| 13:05:36|%E % - HiRE P8 5 5A] [ T 0.7 13.9 52.2 1,630
6 13:57:45| 14:05:28|%% - BIRE J\3R it 0.8 1.7 17.4
7 14:22:49| 14:30:23|%E 25 HERE 40 2R 0.4 76 205
8 14:50:56| 15:00:49|%E % B¥RE 0.5 9.9
it 78 82.6 172.3 1,100 0 1,630 820 0
REE—FRIKE
FB FEENEERE (km) BEEER (53)
1:4&5 - BERE 38 62.2
2EEE-NR )Y N AY 40 205
it 7.8 82.6
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2 11:23:50| 11:33:38|#E % BIRE F—LH 0.6 9.8 13.6 2,040 2,400
3~5( 11:47:11] 12:16:29|4E % - HExE Oy IHER 1.3 29.3 23.1
6 12:39:36| 13:04:05| 8% 38 (0 T 8% LASY) [N=P=EAHEN 0.0 245 48.9 3,100
7 13:52:59| 14:04:31|4E 5 - B¥RE REVEA 0.6 1.5 7.1 340
8 14:11:34| 14:12:49|%E % - BIRE TEYE 0.1 1.2 7.1 880 120
9 14:19:56] 14:21:.00|% % - BxE REESF 0.1 1.2 46.0 1,000
10 | 15:07:10] 15:17:39|4k % - BécE 0.6 10.5 12.0 380
11 15:29:37| 16:00:43|$%3& (Hh T 8% LA41) JRFHR AER 0.0 31.1
at 33 132.8 193.7 1,000 6,020 460 3,160 0
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2B EE-NR4)Y— N Y 0.0 0.0
it 33 63.6
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1 10:03:05| 10:17:25|8%:8 (Hh TEELLSY) 0.0 14.3 1.0
2 10:18:28| 10:30:39|# % - BIRE KEEF 0.6 12.2 58.7 600
3~4| 11:29:21] 11:55:48|4&%- BEzE SBIRST 14 26.5 135 630
5 12:09:21| 12:33:10|%E%- BERE EILAE 1.2 238 15.8
6~8| 12:48:58| 13:47:36|4E%- HEzE AILEESE 32 58.6 57.3 990 1,890
9 14:44:55| 14:46:28|%E% - BIRE 0.1 1.5 145 190
10 | 15:00:56| 15:17:25|8%58 (3t FRELLSV) FHEA 0.0 16.5
it 6.6 153.4 160.9 600 990 2,520 190 0
RBE—RAILE
FB B BIEERE (km) BEEER (53)
145 BERE 6.6 1226
2B EE-NR4)Y— N Y 0.0 0.0
it 6.6 1226
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1 10:02:14| 10:17:52| 838 (#h TEELLSY) 0.0 15.6 15
2 10:19:20| 10:28:47|# % - BIRE KEEF 0.6 9.4 95.9 10 1,200
3 12:04:41| 12:13:44|% 5 - BsE 0.6 9.0 8.5 220
4~5| 12:22:15 12:51:49|8%:& (b T8k LISL) 0.0 29.6 11.0
6 13:02:47| 13:16:13|4E % - HizE P8 5 5A] [ T 0.8 13.4 585
7 | 141443] 1421:10|4E% - BEEE 0.3 6.4 0.8
8 14:21:59] 14:31.01[BBHE-NR-45—-n' 1) 0.4 9.0 18
9 14:32:50| 14:35:40|%€%- HERE AILAE 0.1 2.8
it 28 95.5 178.0 10 0 1,200 220 0
RBE—RAILE
FB B BIEERE (km) BEEER (53)
1:4&5 - BERE 2.3 412
2EBE N4 N 04 9.0
it 238 50.3
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1 11:24:11] 11:35:01|$ 5 - B#xE REESF 0.5 10.8 40.1
2 12:15:04| 12:23:08|%E % - HERE ERIF 0.4 8.1 95.6 3,150 190
3 13:58:44| 14:35:227|% % - BsE BB —oF TR 1.2 36.7 400
4 15:15:26| 15:34:03| 8% 18 (0 T $%LASY) JRF}E O (PARETE 15) 0.0 18.6
it 22 74.2 175.6 0 0 3,150 190 0
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2B EE-NR4)Y— N Y 0.0 0.0
it 22 55.6
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Code | HFERXI HIR I TEFR Eiit Gm) | 6D | B [TABH| 2hLE | AR | 4TEE]| 50l
1 09:36:05| 09:41:20|8%:8 (Hh TEELLSY) 0.0 5.3 158.8 900 950 640
2 12:20:06| 12:47:52| BEIE-NR-99y—-W1) |ABHFXE= 6.9 27.8 35.2
3 13:23:04| 13:31:54| BBYE - N R- 49— 1) 18 8.8 8.9
4 13:40:46| 13:45:41|#E% - BIRE =EF 0.8 49 485 1,400
5 14:34:12| 15:05:07| BBYE -V R - 49— 1) 6.8 30.9 30
6 15:08:07| 15:15:11|#E% - BIRE 0.4 7.1 0.0
7 15:15:11]  15:17:12| 88 (#h T EELLSL) 0.0 20 0.9
8 15:18:08| 15:26:31|#E% - BIRE 0.4 8.4 15.5
9 15:42:01| 16:02:54| BBYE - N R- 49— N 1) 1.1 20.9 0.7
10 | 16:03:38] 16:13:01|4k % - BicE EKF 05 9.4
it 18.6 125.4 2715 2,300 0 950 640 0
REE—FRIKE
FB FEENEERE (km) BEEER (53)
1:4&45 - BERE 2.1 29.7
2B EE-NR4)Y— N (Y 16.5 88.4
it 18.6 118.1






